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QUESTION 1

Refer to the exhibit.

The branch routers have EL1 lines into the Frame Relay Service provider network. The exhibit shows just one branch,
but the network actually has 30 branches. The HP 6600 Series routers, which are the area border routers (ABRSs), have
E2

lines into the Frame Relay network.

The routers in the exhibit Open Shortest Path First (OSPF). The enable OSPF on network follows:

In area 2, OSPF is enabled on network 10.2.0.0/16 In area 0, OSPF is enabled on network 10.0.0.0/16

The customer requires resilience at the WAN core. Which design change best supports that requirement?

A. Add additional links from the HP 6600 Series routers to the WAN

B. On each branch router, add a floating static route to one of the ABRs in case the OSPF solution fails

C. Add a Gigabit link between the HP 6600 Series router with a network in area 0 and area 2.

D. At each branch, add a redundant link between the switch and the router

Correct Answer: B

QUESTION 2
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A customer wants a simple solution for deploying virtual services at a branch. Which devices support modules running a
VMware ESXi hypervisor? (Select two)

A. HP 2920 Switch Series

B. HP MSR30 Router Series

C. HP 5400 z| Switch Series

D. HP 7500 Switch Series

E. HP VSR1000 Virtual Services Routers

Correct Answer: BE

QUESTION 3

Refer to the exhibit.

A network architect has planned redundant links as shown in the exhibit. What should the network architect do to ensure
that the redundant link design is truly resilient?

A. Implement the features such as link aggregation, backplane stacking, and intelligent Resilient Framework (IRF)
B. Add another link between the Layer 2 switches and the core so that up to the two links can fail
C. Implement a feature such as bidirectional forwarding detection (BFO) on each redundant link

D. Make sure that each HP 10508 switch is configured as a root in one Multiple Spanning Tree Protocol (MSTP)
instance

Correct Answer: C

QUESTION 4
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A customer has a policy of using open standard protocols to maintain the flexibility to use multiple vendors. Which

protocols are open standard (three.)
A. PVST+

B. MSTP

C.CDP

D. OSPF

E. IGRP

F. LLDP

Correct Answer: BDF

QUESTION 5

HOTSPOT

An architect needs to plan a solution that meets customer authentication requirements. Match each authentication

method to the appropriate description.

Hot Area:

Allows companies tc authenticate legacy devices that do not support a supplicant

Require users to authenticate to the network by using a browser

Requires users to authenticate to the network by using a supplicant

Correct Answer:
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B

MAC Auth
802.1X
Web-Auth

5]

MAC Auth
802.1X
Web-Auth

=

MAC Auth
802.1X
Web-Auth
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Allows companies tc authenticate legacy devices that do not support a supplicant

Require users to authenticate to the network by using a browser

Requires users to authenticate to the network by using a supplicant

B

MAC Auth
802.1X
Web-Auth

5]

MAC Auth
B0Z.1X
Web-Auth

&

MAC Auth
802.1X

Web-Auth
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